HSC 2001 - Information Processes and Technology

Question 2

2 A student locates information on the World Wide Web, at the following address:
http://edweb.optics.crc.org.au/fibres/fabrication.htm

The student saves the web page for later viewing, accepting the default name suggested
by the browser.

Which of the following is most likely to identify the saved file when the student attempts
to locate it at a later time?

(A) documentl.htm

(B) fabrication.doc

(C) fabrication.htm

(D) fibres/fabrication.htm

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 16 11.9 8.7 6.4 1.8
B 10 8.1 6.4 3.3 0
(o3 34.5 46.1 55.6 63.5 78.6
D 39.6 334 29 26.8 19.6
N 0 04 0.3 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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